LONG MULTIPLICATION

3-DIGIT BY 1-DIGIT(WITHOUT REGROUPING)
WORKSHEET - 9

344 713 409 117

X 6 x 2 x5 x 4

24 6 45 28

+ 240 + 20 + 0 + 40
+ 1800 + 1400 + 2000 + 400
= 2064 = 1426 = 2045 = 468
528 475 733 186

x 9 X 6 X 8 x 7

72 30 24 42

+ 180 + 420 + 240 + 560
+ 4500 + 2400 + 5600 + 700
= 4752 = 2850 = 5864 = 1302
655 461 522 845

x 4 x 3 x 8 x 6

20 3 16 30

+ 200 + 180 + 160 + 240
+ 2400 + 1200 + 4000 + 4800
= 2620 = 1383 = 4176 = 5070
529 187 383 932

x 4 x 8 X 6 x7

36 56 18 14

+ 80 + 640 + 480 + 210
+ 2000 + 800 + 1800 + 6300
= 2116 = 1496 = 2298 = 6524
940 779 610 461

X 6 x 2 x 9 x5

0 18 0 5

+ 240 + 140 + 90 + 300
+ 5400 + 1400 + 5400 + 2000
= 5640 = 1558 = 5490 = 2305
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